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BEREENL « BSRHERNBIRAT(EPH) HREREMA  108/03/19 1RERS : FRERLD
HIRE(R) : 2 BxxEREM (abs)
we | memn | SETE ] EE TIFRARCBRR
RRK | IURK | FORK | IDRK

1| BSEHEERR- AR 2 4

2 | BSBLERR- EELC 2 4

3 | ESBLERR- BF 5 10

4 | BSELEERR- I 2 5

5 | BSEHEER- T 0 6

6 | BESELEERR- HLEHHR 4 4

T | ESELEERR- &E 4 4

8 | BSELEERR- BB 5 0

9 | BSRRERX- BEH 1 13

10 | BSEHEERR- E 0 9

Bfr £ - FFBLEAN-

st - 1~ RABERER TOMEE, & TSEPRE | MARRISITRE
2 ~ IRl (%) = (HIRARE - REARE) + HRERE X 100
3+ AChEMMRIRAIERERRIEL
(1) 0-34%(=34.5)&: 618
(2)35—-44% (=44.5) DEE : BAMAMSIHERRNENE - WHRRETHREEHHS -
(3) 45% (>44.5) EE : FIRZUKE - UEREHFHBHRMEMNIGE - iSRRXEESNEEEER

B
{LEARER - WKEREEERANREERARE
4~ RERRAER : BERE (-)  BIERME (+) ; BRAFE 1 B+3RAKR50% - 2@+5RAK100%
5 - FIRRIEERHRIEFEIEES - BRBRKR—EREIRE - MNFESHK
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IRERER( : SEARAEIRAT @R MREEEHA 1 108/03/20 1REHR : ML
HRIEGD : 2 BB bs)
e ACHETTRIE (%)
we | memn | SETE % BB TIFRARCBRR
RRK | IURK | FORK | IDRK

1| mmEn- | gwE 0 2

2 | pEER | EXH 1 1

3 | mEER | OED 8 1

4 | mEEn | BmimE |3 1

5 | BEER- | ALH 5 5

6 | mEER | BBE 2 0

7| mEER | BB 3 1

8 | muER | B 0 1

o | mEmEn | =B 1 3

10 | mEER- | 18 1 9

1| mEER | E8 8 7

12 | BEER n 4 7

13 | BSRREERR- REB 2 1
st - 1 RABRRER TEREE, R "TEEPRE | MXERSITRE

2 ~ IR (%) = (HMRHERGE - REERE) + HWIRERXGE X 100
3 » AChEMRIRAERERRIEL
(1) 0-34%(=34.5)& 618
(2)35—-44% (=44.5) DEE BARESEIERBEINE - WHERETREEHNE -

. (8) 45% (>4 4.5) DEE : FILRZWHE - URIFHRMEMNIGE - SRRXEEENRENER
= ivaD

SN

{LBERE - WIKRREEEREAREEIRERS -
- IRERRANSEER  BIERIE () 5 BIERE (+) ; BRHATE 1 B+3RAKR5 0% 2@+3RAKI100%
* ERRIEERHRIRF IR - BRBHRR—REREIRE  LRNFEEK -
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IREREEN : BSEHERNBIRAR(E D) KEREHE : 108/03/21 #HBEES : fElRL0
HIREGD) : 2 BERE M (abs) ¢
.o AChEHNHIZE (%)
we | memn | SETE B B TIFRARCBRR
HRK IRK HRK IRK

1 fESRHEERR- &ho 1 5

2 fSEHEEER- = 1 5

3 fESRHEERR- HES 2 4

4 fESEHEERR- FF 4 3

5 fESEHEERR- IBBMR 1 8

6 fESEHEERR- AE 3 2

7 BSEHERR- | B EEDR 0 3

8 fESEHEERR- EX 3 6

9 RESRHERRR- BES 6 7

10 | BSBHESER- IN&ER 8 7
e 1 BRIBERES TEREE, & TREPRE | MAESIS S

2 DA (%) = (HIBERNE - SRERNE) + HIBERXE X 100
3 v ACHEMISIRHEIEERER AT
(1)0—-—34%(=<34.5)&F:61%°
(2)35—44% (<44.5)LIEZE: BRRESIIEHRNEINE - IHERE(TRERIEE o

e (3) 45% (>44.5) YEE: BRSNS - VERFGHMESMIRER @ SERXEEEREEER
Sl

{LENARER - WIKEREEERADEEERARE -
 IREENRANER : BIERE (-) 5 BERE (+)  BRATE1E+RERKRE0% > 2@+3RAKR100%
* ERRIEERHRIRF IR - BRBRKR—EREIRE F LRNFESK -




